
,'\T 1,t07

M.B.A. (Semester-II) Examination
FINANCIAL MANACEMENT

PAPER-20,1
Time ; Three I loursl lMa.ximum Marks : 70

N.B. :- (l) Altempt ALL questions.

(2) Iigures to the rjght indicate marks.

(3) Annuilv tablc sho*ing futtrle Value, Prcsent Value and scientific ca.lculator is permitted.

SECTION-A

l. (a) Explain horv dividend policy is an important tool to achievo thc goal ofweallh mir,rimization.

Also discuss factors affecting dividend decision ofthe compary. 14

OR

(b) \\hat is the signiticance of\\brking Capiol for a mtrnufacturing firm ? Also discuss tinLmcial

instruments usc lor working capital arrangement. 14

SECTION-B

2. (a) The modem approach lo corpomte hnance is an improvement over thc traditional approach.

Conuncnt. 1

(b) The dala relating 1o two Companies are as given below :

Company A Company B

Debenture I2%j Rs. 4.00.000 Rs. 6,50.000

output (llnits) 60,000 15,000

Selling Pice per unit Rs. 30 Rs. 250

Fixed Cost per Annum Rs.7,00,000 Rs. 14.00,000

variable cost per unit Rs. l0 Rs.75

You arc required to calculate thc operating leverage. financial leveragc zurd combined leveragc

of the t*o companies. 7

OR

(c) Explain profit ma,ximii:ation and wealth maximization objectives offinancial management. 7
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(a)

(b)

(c)

(d)

ld) lNo businesses. AB Lld. and CD Ltd. scll the same t]'pe ofproducl in the same type 01'

mark(jt. fheir budgeted profit and loss accounts for thc current ]'car ending \larch 3I are

a-s [o]lo\ s:
AB LTd. CD Ltd.

(R..) (Rs.)

Particulars

Sales 1,50,000 1,50,000

Less i \hriable Costs 1,20,000 1.00,000

Fixed Costs 15.000 35.000

\ct budgcted profit 15,000 I5.000

You are rcquired to :

(1) Calculate the break-even point ofeach business and

(2) Statc lvhich business is likel1 to eam grealcr profits in conditions of r

(a) hearl demand for the product.

(b) lou demrnd ibr the product. '7

Discuss cliscounting technique ofcapital budgeting. 7
-l 

hc face ralue of a l0 lear bond uith coupon rate l0 percent per annum rs Rs. 1.000. The

interest is palable semi-annually. Assuming l2 percent requircd rate ofreturn of in',eslors.

compule lhc value oI the bond. 7

OR

Define valuation. \\'hy is it imponant lor a financial managcr to understand the !alualion
process ) '1

A machincry requires an invqslment of Rs. 60,000. lhe machinery will haveascrapvalue

of Rs. 3.000 at thc cnd ofits uscf\rl lilc of5 years. 1he prolit atler tax and deprecLation are

estimated to be as lbllo\,!'s :

Year Rs.

I 5,000

2 15.000

3 20.000

4 i0.000

5 20.000

Calculate ne1 Fresent \'alues. assume discollnt ratc l0-q6. 7
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ST]CTION-C

4. (a) Briefly explain and illustrate the concept of 'time yalue ofmoney'. 7

(b) Explain the Traditional theory ofCapital structure. 'l

OR

(c) \\'hich lwes of investment decisions come under study oftime value ol mone.v ? And how

concept oftime value ofmoney helps in investment decisions ? 7

(d) What are the assumptions and implications of NI approach ? Is there an optimal capital

structure as pcr NI approach 'l 7

SECl'ION-D

5. An electric equipmenl manufacturing company \i'ishes 1o determine the weightcd average cost of
capital lor evaluating plojects. You have becn supplied with tbllorving infomation :

Balancc Sheet

Liahilitier Rs. A ssc ts

l. Equity Share Capital

2. Prefercnce Capital

i. Debentures

4. Current Liabilities

Fixed Asse ts

10,00.000 .r0,00,000

Additional Inlormation :

l. 20 years l4oZ debentures ofRs. 2,500 tace va1ue, redeemable at 50% Premium, can bc sold

at par 296 lloration costs.

2. l57o prefercnce shares salc price Rs. 100 pcr share. Rs. 5 per share flotalion cosl.

3. Equity sharcs:Sale price Rs. ll5 per sharc, flotation costsRs.5 per share.

-lhe Coryorate tax ftte is 55olo and the expected growth in equity dividend is 8% per year

The expected dividend at the end ol current finanoial year is Rs. 1l per share.

Assume that the company is satisfied rvith its prcscnt capital struclure and intends to main(ain it
l4

16,50,000

1.s0.000

9,00.000

10,00,000

25,00,000

15,00,000Cunenl Asscts
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